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2024 &F F F 2 BRARF XA S 3 RLE

it

R ETHIRFR S A E ) TR E
R

1AMV ES 1 FEMISE 1 FF R 750 [ HRAT {5 3K 30 J17G,
FFREIN 10%, ERIFE, 5 3~5 FEREHA L L
SR . MIER R R NEIL RN ) TG,

A.20.94 B.23.03

C.27.87 D.31.57

[IEEZR] C

[ AT ) J7k—: 30X (F/A, 10%, 2)X(1+10%)=A X (P/A,
10%, 3)

fiftfs: A=30X2.1X1.1/2.4869=27.87(}7 JT)

Tk —: 30+30X (P/F, 10%, 1)=AX(P/A, 10%, 3)X(P/F,
10%, 2)

fitf3: A=(30+30<0.9091)/(2.4869 X 0.8264)=27.87(/] JC)
2.CVHI(P/A, 8%, 5)=3.9927, (P/A, 8%, 6)=4.6229, (P/A, 8%,
7)=5.2064, N 6 FH. FrilFN 8%HIH I FE&IE REE
()

A.2.9927

B.4.2064

C.4.9927
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D.6.2064
[%%]C

[Afd Y 6 SFIHT I3 0 8% I T4+ AF = A R E=[(P/A, 8%,
6-1)+1]=3.9927+1=4.9927 BY 6 F 4T I Jy 8% [ THAT 4 2 3N
(B RE=(P/A, 8%, 6)X(1+8%)=4.6229 X (1+8%)=4.9927.
3. AR MY A BE 53 5 AN 3500 Ji6, 22, Hp
ANEHE 9 500 fiut. Tk FEREHEHK 5%, Tiak
I 2%, W TFFEEREFEED N )70,
A.3000

B.3088
C.3150

D.3213

[%%] B

[fEd ] A% 1% 58 5 ZEE TR R R R i Bt il 2
E=(3500-500) X (1+5%) + (1+2%)=3088.24( /3 7T) -
4. FH &I, A] SRR R BRI 2 AR B2 () o
AR A5 2K

B.245 T2 P L &4 41
C. NS K o5 FH B8 < ) Bz oA L

D. S I ik H 7 BE 2%

[IE#IERE] C

[ it ] NSOW R B 2 AR T 1) A2 NSO 3K o5 FH 5% 46 1)
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RS, PR A RGN Co

5.H—RIIEME, 7F58 2 FAREIWEMA 100 /17, B
3 FERFIMEIMA 200 /57T, B 4 FREIEIA 200 /57T,
N7E 0 i AIZI &M EDMERIE X IEMIA ().

A.100 X (P/F, i, 2)+200X(P/F, i, 3)+200X(P/F, i, 4)
B.100 X (F/A, i, 3)X(P/F, i, 4)+100X(F/A, i, 2)X(P/F, i,
2)

C.100 X (P/F, i, 2)+200X (F/A, i, 2)X(P/F, i, 4)

D.100X (P/A, i, 3)X(P/F, i, 1)+100X(P/A, i, 2)X(P/F, i,
2)

[ZF Z]ACD

[fiFAT1B LI IE MR X 20~ 100 X (F/A, i, 3) X (P/F, i, 4)+100
X (F/A, i, 2)X(P/F, i, 4).

6. 555 BAR G A% O I R ().

AT 5 0 957 B H b

B. 2 e P B A ol 1) B i

C. anfnr iy i W 55 " B AR 1] B BE AN 3 A

D. 41 e i & 1 555 BRA R

(%% D [AfEd ] kv 55 8 BRAA 1) B A b % I 55 =
I AR DA AR 2 | B, A O ) i o] i 2 DA
B EEALRR, Al 0 55 B B AR P A A VIV 55 B ) IE 4T
AL A S it 5
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7. R AT, B DA P WU e B g ] () o

A EHN T

B. il i& 2 FH T 5.

C./& 2 FH T

D. 41 85 2 FH Tl 5.

[ %] AB

(gt ] SHE S RTE, 2484 7 SEIVEH & TR I /& AT 1)
P T . e DL P O IERE, AS CLAR P= TS FE Al g 1
MWL BT EERA, Bl —8E Il % K SEPRIT 3¢
NEEA, T R AT AR AR R R, AN LA PR TR
fitli 4 1 o

8. ANV IRTF 100 /3 7T I A A5 DR, 405 SER AN 10%,
ARG TREN 0.5%, FRENMIEPRIIH B 60 fiot, 1HH
T 1240 H, WRZZENFE H L bR AR A () T 78
A.10

B.10.2

C.6.2

D.6

IEfE 5 C

2z R M F) B =60 X 10%=6( /7 7C), 7K i #% =(100-60) X
0.5%=0.2(/37G), WISZBRIF)fE A =6+0.2=6.2( /1 JC), A
BRI C 1EHA .
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PLEAB AR SRR TS, AW RSB —FEHNE.
BERREAERE, BiA: https://d. book118. com/65601405015
1010220
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